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k=l

A4 (=R A6

Mgl A

al

i
1o

)
Bl
Tl
oll

E E E E
ok ol ol ol -
oK ® KR 1
Z o pARr Al =
oll _.._o [\
|_-”_.o _AI R T
R’ KH
oo 0o L
< U S
e e £3 0f0
o o B %
< | < <
™
)
o 5 Sk o
T o Koo
<
=z EE o
T = ol ol ”
5 = E 0
= =
<
ok [
ni0 o w0 o
Ko -
o“_o ...Al._ _._“_H o“_o 7._
i W R ~
KIr < A K <
gl N o
e R T
m m -l
o w 2 ~
" o
% DN
- ol B
m oF
ar Ho
i =
_no =<k
0 — ry
N g o o
¢ R K o
__o._o ﬂ o*=._
&8
N
E Bl B
o o ot
L L
mo | = = 2
ujo 01 30 o= <
zl =~ " <0 F
1o J._u _. ﬁ M_._._ M=._
.. il < | <
oF ay = s mw Kr | M
T %! Ay § g ot T W
7 O ol oo Qa = K
o O < "= A
w0 20 -
g K &, i
O oF — no A.__u .A_.E
- 4 i =
oL F G 3k o <
O

x| (80g/m)]

=]

HH A}

=

364mm X 257mm [




e S
IS} <0 I o
N <k W TE
= M. oK of
3 Pl <k
€ £
i
L
B s < mm
EE Hu o
= - W
= ﬁ_ <k
O O - -
(@) o
I
<k
I}
(@}
(]
£
E
=z
N\
il
— . £
T o
. m_m KK
<z IE UE
20 o
3 S e
@
E
. ey
A_I er H_O
T o = T
(2
£ €
i
L
IS} M
T HH =
80 0 0
3 3
"
3

ul
o
=
ok

M-
Ljo

30

1
K v w0
< @
o

T T A

Hx o x

oo K O

-
— QN ™M

X

=

[

el

>

<

=

ol

Hr

ulo

SN 0

~ Tl

Hr

ujo %




